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1. 173 "4t (statistic) ? 3XEH3RA - [5 4]

2. 473 " A#ER | ((weak) law of large numbers) ? 3B H(3R8A - [5 9]

3. TEAREH (—m—) HHRHEMAYE (random variable) #94#% % % B % # (probability
density function) ° 403 ¥ — A1% %&b % & 5 & (standardized normal distribution) @ B
—AHABE28M SR - RAESHHLB?HFRAES - [5 4]
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4 'F@?% F#HTER  BFeRBREAL AN BT (FE) B2 HE -
L WRIBWE FR AN EE TWEH ) BRI TE AR sk E - [5 4]
b A E RGP E N ? HALE HE Ak BH U ERRE - [10 4]

critical F=2.1128

5. ATMFHML  BBEO-12 8K BATAE 3648 CBL) Ao BARIEARHK

=6
a, 3t B bk A T E ) 95% 1EHE M (confidence interval) = (3% W& AAE )
e ) [84]

b. “The number 0.95 is the probability that the particular interval (you wrote in a.)
includes the parameter 12" ¥R 8 AR EHE® ? H AR AR HEG - [10 4]
6. SHPMMEHX RY - CodBPAEAY EHVaD)FHE » 4 CovX V) BR324
% (covariance) -°
a. #H VarX-Y) = Var(X) + Var(Y) — 2 Cov(X,Y) » [10 4]
B/AER X BY X Pearson 48 )443, (correlation coefficient) °
b, Hu LS bFLEamt [545]
c. AMMGEANN 15 117 FREAETREFRBAZ -
(Hint: |[E(VW)|* SEV?) EW?) [6 4]

7. BEA a0 HBREE (x,y) (=12 ..,n) #4kn@x (Ry) 6553488 5 (R
y) HEER s (Rs) ~ARARLENZL "GHEHEMHE | (linear regression model )
Yisa+fx+eg £Feg(i=12..,0) BDRIBLEAHFHEO BELoWE LN -

a. FHARFEL EE WM ATE T & -T-??J‘az": 4 (method of least squares) = [5 4]

b. AR/ DFFTETHEEDFLOBIE (o) B4 F () &3 K (estimator) ° 3
Eﬂ&b X - [64]

c. WHbHEEH %?f%.ﬁﬁ‘]%ﬁ THMEERETE - (3 BA%R) [54]

d. :“?'ﬁ'_}; RATEe T &AL (method of maximum likelihood) At Mg ®
AR BT LR RERMESHK - Ehmae? [54])

8. In a one-way analysis of variance (ANOVA), why are we analyzing variance to test the
equality of (several) means? [10 %]
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